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4

5 XA R

Q Xt A XAAITH B N det(B) = — det(A).

Q FAME—ITR A B N det(B) = Adet(A).

Q FAWMEATAANGEZ 2, N det(A) THAFAAAT I X
Z Fa.

Q # A QEMTALS), N det(A) =
Q FAWME—ATNRBWE F —H#F
B det TTAF AR a1, -+ -, o, 8955 N
Q RFARME: det(--- - yajo) = —det(--- ,ap )

Q T4k
det(... 7)\ai+uﬂi’...):)\det(... 7ai7...)+udet(... 76[7"');

0 AT det(51,52,~ . ,gn) =1.

”'J det(B) = det(A).

.
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175 KB R T R = AR HAEEATF] X

T (7 XETET)
B A= (aj)nxn B n 077 %, N

det(A) — Z (_1)7011’27"' Jn)aljla2j2 80s anjn
(j172++Jn) ESn

VeVt
Ajr A - Ay
. Age -0 Ay | | g
KA= _ | A kAETE, b A A TN
Ak

k
det(A) = [ ] det(Ax).
i=1
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7 5 XA A R
det(A) = det(AT).

23 (3 R TT)

A = (a)n 2 n B HHE MFEE L <j<n

det(A Zay = Z (—1)Ha M.

i=1

det(AB) = det(A) det(B).
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7 X (#])

>N

Em>nAeF"™" Be FYXm

det(AB) = 0.

KAeF™™" Be F™™" Ce F™" DeF"™" & A& N

A B\ .
det (C D) = det(A) - det(D — CA™"'B).
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FB R VT 3% 69 F| T A A

&S (1 FEAE %)

B A= (aj)nxn A n W77 5. AREETE

Ajn A - Ap

Ap Ay -+ Ap T
A" = (Al'j)nxn

Aln A2n T Ann

A A B AR

A = (ag)uxn B n B 0

A*A = AA* = det(A)],

i RHEENT Z a,kAJk = det( ) if VAR Z akiAkj = det(A)(;[j,
k=1
Ao A Kronecker T, 8 (6 nsn = I
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HB [ 7T 15 09 ) = S

KAHN T E WATILEFN
Q AT# (ie HEXAMEHFAX=1=XA.);
Q det(A) #0;
Q A XARMFI=XA;
QO AEXBEFAX=1

! 1 *
FALILERZ, WA = HomAn.
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7 X 89 ++ A

>N

Yy
11
x 1 1
1 X n—1
=x+n—1)(x—-1)"""
x 1
1 1 x

A
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X agp
a =x"+ a1 XL+ -+ aix+ ap.
X an—2
-1 x+a,—1
v
17
1 @ ait
1 a art
° _2. = Il (g—a)
1<i<j<n
1 a, ay~
.
17
2 1
1 2
A, =n+1.
1
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Z 32 (Cramer = )
B0 A A = (ag)wcn = (1, - ) T, W — Ak B b 74240

AX=0Db

Ao —fR
_ (AL A A
(xl’”"x")<A’A’ ’A)’

—I’j:—‘:}: A= det(A), Ai = det(al 000 ,Oé,‘_l,b, (07ER PR ,O[n).

AL X =A"b = sA"D.

1¢ B Cramer & W] K fif & M 7 A2 48

+x2 +x3 4+xa =1

X1 +x3 4+xa =2
X1 +x2 +x4s =3
X1 X2 +x3 = 4l

B (Xl,XQ,X3,X4) (7/3 4/3,1/3,-2/3).
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o MFITE

o X ILMIT

o X U—NIERT K

o RATRU—NFHHMmE H—47L
o MF L ik

o XM

o EFNFUA—AAERF

o XFIFU—/NFHmE F—3] L

ME TGO ) = WFITTHECA) + WFINTIRGA)

o) AR A% 4B AR T B, KAV B A 4B
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S4B

O THPAIEM S ij 1T (K ijF)
Sij =

Q WHEAZES (4T (Ri 7)) FRAIERFTH N F




1% 75 %

7L (5 7 5
Q KBHELHEME jITHNBRES i 17 (RB i 709 N3 %
johiF

FAVH L d 2 LA = K465 K S48 %
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